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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part — III Time : 2 Hours
COMPUTER SCIENCE Cool-off time : 15 Minutes

Maximum : 60 Scores

/ General Instructions to Candidates : \

0f3§0B801 039605363 6)a 100N MIBCFU601303 :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any S questions from 1 to 6. Each carries 1 score. (Sx1=5)

1. The number (158),, can be represented in Hexadecimal number system as

2. Some of the components in the phases of programming are given below. Write them in

order of their occurrence :
(1) Translation

(1) Documentation

(i11) Problem identification

(iv) Coding of program

3. The memory size of ‘double’ data type in C++is bytes.

4. In C++, name the loop which can be used to ensure that the body of the loop will surely

be executed at least once.

5. Any device which is directly connected to a network is generally known as

6.  Pick the odd one from the following list :
(1) Spam
(1) Trojan horse
(1i1) Phishing
(iv) Firewall
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1 2)@@8 6 Q1908 ¢a1oBBElad aBEOBIEN S af)IPOIIM DOMOOAY @)D

1 aved,03 allero. (5x1=5)
1. (158);), a)aM QVoAUHD HAOBHTVIOWIVIAG HIUG IIQLOBIEI af)am’
V)a flaflosam.

2. cpwodladlang ceigemglon! aflel BaWEBUE 6 d0S)OTIAIENIN). @RAIDOS
(EIQURTDHMEBBSBIOS (HADTI T3 af)$) @),
(i) Translation
(i1) Documentation
(iii) Problem identification
(iv) Coding of program

o

3. C++eel‘double’ wogoessaflemd aavadl size @RY6.

4. CH+t @ ena] conidall 80) (I100100OaB1eNe (I0IBOIEMEAM 20a)88 enafload

Gal® alOW)d>.

5. 80} 6MgaIde9)@0©] emalg mIMWlafldnam Dald:oememBeg ald@aiow]

af)aM) alO@)aM).

6.  ©009 630S)OTICHNMAIDIGS AN} BYOAISD® aB@EM ?
(i) Spam
(i1) Trojan horse
(iii) Phishing

(iv) Firewall

FY-430 3 P.T.O.



Answer any 9 questions from 7 to 18. Each carries 2 scores. 9 x2=18)

7. If(x)g = (101011), = (y),, find the values of x and y.

8. Write the following memory devices in the order of their speed. (Fastest to slowest

order) :
(a) Cache
(b) RAM

(¢) Hard Disk

(d) Registers

9.  Define syntax error and logical error.

10. Find the invalid identifier names from the following :

Al, d-w, 999, qwA, Z$, AaAl, 8c

11.  Write the symbols of the following C++ operators :
(a) Conditional operator
(b) Extraction operator
(c) Modulus operator

(d) NOT operator
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7 @@ 18 a190W)B8 €2108MEI@3 aBO®EsIENC 9 af)ANTTIM 2OMOOAYI®)d>.

2 MEa0A8 alloo. 9 x2=18)

7. (0)g=(101011), = (y),; GROMBIG X, Y af)aABIU@OS Qflel af)(@ ?

8.  ©@I%y MWBHCEMIN 62eadl @EMIQH®O8 CAUN@®OS  @RSITLOINBTNGI

(HAOTNMTI  af)9)MdD.  (CUND®  BSIVAIVIE TNl )TN CRISSS

(BHAODN@I)
(a) Cache
(b) RAM

(¢) Hard Disk

(d) Registers

9.  Syntax error 9o logical error 9o ag)266MAN MBI 1E9)H>.

10.  enlajo@mMaIi®d alan @AVIWAIW AafWAFaNWAB GalDd)RHUB HOMBGITN)D: !

Al, d-w, 999, qwA, Z$, AaAl, 8c

11, eaflajo@an C++ 80a]E0Q0)3B)6S allaMeoBUd ag)9)@)d: :
(a) Conditional operator
(b) Extractor operator

(c) Modulus operator

(d) NOT operator

FY-430 S P.T.O.



12.  Rewrite the following C++ program code with switch statement
if(val= =1)
cout<<“Science”;
else if (val= =5)
cout<<“Computer Science”;
else

cout<<“Not a course”;

13. (1) Anarray is declared as follows :
int a(5] = {1, 2, 3, 4, 5};
What will be the value of a [2] +a [3] ? 1

(i) How many bytes are allocated by the above array in memory ? 1)

14. Compare Linear search and Binary search on arrays in C++.

15.  Construct the function prototypes for the following functions :

(i) The function Display( ) accepts one argument of type double and does not return

any value. 1)

(ii) Total( ) accepts two arguments of type int, float respectively and return a float
type value. 1)

16. Briefly explain about different types of methods used for passing arguments to a

function.

17. Discuss the difference in working methods of hub and switch.

18. (i) Write a note on search engines. 1)
(i) What is meant by Phishing ? 1)
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12, ®061% alo@)an C++ 6lowde 60 switch statement Da16ufla] @0g) ag)9;on®: :

if(val= =1)
cout<<“Science”;
else if (val= =5)
cout<<“Computer Science”;
else
cout<<“Not a course”;

13. (1) el al0)an caldeel 630) array declar Oalglgene”:

int a[5] = {1, 2, 3, 4, 5}; af)®®3
al2]+al[3] wpes allel agon ? 1)

(i) 2B alOOBIG GO array #6 memory @3 af)(@ bytes aflosiaaian) ? )

14. C++eel oloel array linear search, binary search ag)arial @ezl@3 @I0@A Yo 612191

15, @61y alo@)am function #0368 @RyQIU0yMI® function prototypes ag)9)@)d» :
(1) Display( ) agyam function double type-a3 988 afler qUIG:GIENAN). af)aNIT3
@06 ®00) Afleiw)e asHsi GrWENAIL). (1)
(ii) Total( ) agyam function int, double ag)aril type-md 988 afleidud aufla:dlee)d®o

Sfloat type-a8 988 afllel 20(@o ASH6H ERWEN)BHW)o 21Q))aN). 1)

16. 80) afoWauiceldsd @RABVHREARDHUW  HODHD0M  Dalcauflaman aflaflw

Al @il 30886) 2] (2000|200 A lvod]B:@B6)d:.

17, aoemfloag@)e auflaflod®@)o @101domm dlailagloe alymPUo 218 a1Q))d:.

18. () caVBa af)e@ M8 d)0la] B0) dH)Fla| YIS 1)

(i) aflasdlen’a)aMOMI ag)amo6mn ? 1)
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

Answer any 9 questions from 19 to 29. Each carries 3 scores. 9x3=

(i) Name the technology used in third generation of computers.

(ii) Draw the John Von Neumann Architecture for functional units of a computer.

Which gates are called universal gates ? Draw their symbols.

(i) How e-Waste create environmental and health problems ?

(ii) Name the different methods for e-Waste disposal.

Draw a flowchart to find the sum of first 10 natural numbers.

What is meant by Literals in C++ ? Explain its types.

(i) Whatis the use of keyword ‘const’ in C++ ?

(i1) List the different data type modifiers in C++.

Briefly explain different types of type conversions in C++.

Briefly explain any three jump statements.

(1) How many bytes are required to store the string “WELCOME ALL” ?

(i) What is the limitation of cin>>operator while reading a string ? How can we

overcome it ?

Explain any three network topologies with figures.

What is the role of Firewall and Anti-virus scanner in computer networks ?
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

19 2)®@3 29 A1O0WBH ¢2103ME @8 aBO@BIE0 9 afINTHM DONOOAY) ).
3 avea,08 allor.. 9 x3=27)

(i) mMaMoo ®EIMO HMUPSNGE B3 DalEWIUTENMM TVICB:GNG: AlGWINS Gald
NS . 1)

(i) &0} @muYSAM EIUIBCHM @ENTQ®UWBGHIV] ¢e06Md  caIoMd MYA3
@RBNOSBDa1B QIOQ) . )

ABO®EJ00 CNQBBOEM W EGAUSTVE ENQIHUB af)IM ERAIWOQISIAN® ? GRAIDHS
2 l(®EBUB AU

1)  g-20elmio af)emnem aldlaudloil, @R EEIWY (1YYBUd TV YlEeaM) ? (1))
(i) en-moeimy didemodexmalmes allollw AGIdS)OS Gald af)9)®)d:. 2)

@RBIOOD 10 ag)FPR@ MVoEUIMBINS @ROBOMD: GHATBOMOM B0) a0EB802I003
QOB

C+t oal ellgoen®ud OBIME a)mIEM @RAMOANGMMM® ? @odlond aflaflw
®EEBUB AflVoBRIB)H.

(i) CH++ @ ‘const’ af)an SN DalEWOINO af)TNIETD. 1
(i) CHtoel ay@ymy awagd H6Sq] cRoUWlan@O)BU3 LITY 6a1Q)d:. 2

C+ el alymyay @oo type conversions Modilol @0 aluod]@le9)d.
ARO@EEIJo MYAN SN (IGRIAUM AU 21)0)B8 AN UEBHElH9)>.

(i) “WELCOME ALL” ag)am @yt ¢quod al@an@im af)@ bytes oazad

cauenél o) ? 1)
(i) 80} @ a10Wleg|S)ENEMID  Cin>> AN  B0q|COQOS  aldldlG
af)aDEM ? MDA @RBHOM af)etBOM AG1HSEHINS BH¥1)o ? )

aBo®BIene 3 HMQAIBHS ¢SCa|IBEBHUB 2 (@ TVadI®o ANlAIGIHe)H.

SMUYSE dMQAUBLNDET «0BAIEIOW®]e @RAF HOHAOAV APIMAIOBW]o alss
af)am»oem  ?
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Answer any 2 questions from 30 to 32. Each carries 5 scores. 2 x5=10)

30. (i) Write about any two methods of representing characters in memory. 2)
(i) Draw a logic circuit for Boolean expression (A + BC) + AB. 3)
31. (i) Define Operating System. Write any two functions of operating system. 2)
(ii)) Write notes on different types of language processors. 3)
32. (i) Explain the difference between entry controlled loop and exit controlled loop. 3)

(ii) Classify the following loops into entry controlled loop and exit controlled loop for

loop, while loop, do while loop. (2)
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30 2} 32 QIOOWBS ¢a1033EBE 3 aBO@BIENO 2 af) GROTNM QOMOHAYL®)d.

5 aves0d afloo. 2 x5=10)

30. ()

(ii)

31, ()
(i1)
32. ()
(ii)
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oaomdlol@d  characters  om  (IGINWISASNIN  opO@BIER N

AN B6880)F2) af)9)®)H>. 2)

(A + BC) + AB ag)am Boolean expression M @paiuoyno cenelld; avdays

QOS> 3

839qjcoglowy Mlquo aflB0lale9)d. Bq]eadlowy MIQUATHON] aBO @Sl OME’

(@IUBBHMEBUB )3 2)

aflaflw ®eo language CIPAVIROIDOS B)Gla] BFla}dUB af)9)®)d. 3)

Entry controlled loop, exit controlled loop agyavial @ol@d 988 QY@L

aNaId B, A3)

@06  ©3S)eidlesam  controlled loop, exit controlled loop agarl

Qfleonems W] M@0 GIBlLNH:

for loop, while loop, do while loop. ?2)
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